(

i

g Mu|~

sk I, oFR OflAf

=1
O

2{A[OF Y M F A0

JEE

b

Atgtol chet

HMot=

=
S

Z

ol
r

H
K
Kk
<
ro
=
ol
o W
[T
ol il
Ko
{0 =
1 T
ELL L
o o
5 K
ol
_._._o xT
g 5
& o
o K
[} Bl
o| ujr
m._b -—

ol ™

Kl or

ek gM e S MR H2E K S oF

StCt. of2{ gt

of

Sich.

!

= Ao Y MBSl M=

"
St

2018 HEE A

e=el ME HFA2 &

7I?

| =

(=

5l OF &

al

o

H

ZH

g 27}

£9 3 OECD EZ0| o}

20" 3 /EM

=

g HZof et

S
=]

jol
0

RO

H

4

KO
od
Rr

XHofl Al 2=7H

—
[

L1 |

a4

L.
o

N

M

HEX/ MFA /=0 SEE F2

M AFX =7} (£ X 9).

s

-
(=}
=

Hz S5 HME

=Rk

ZESE

=8 AaAte

=84l AFK = HMA Bz E= 0fof

o| 77t ALY

—

[

X|?

45t

=13
=

=
|
o
olo
<0

=z

MRE

NI ChE F9 9 |

] A

50

o

o[2t SAIMf =87

o] 287I2te 2o et

p
Zay

a

ol
o

ofru
ujo

i

Klo

o

K
oy

ol
ol

0|l
@

ro

A HE AHE

HSofl ch

A

« =8 AMH|
. 0[O

L ol= HM A=

ajo
[y =}

EHZt ot

o1
S

ol
31

]
o1

t

Aol 28 AFA=, EMA He

EE 140| &|2& 7|

Choh

ME|A KIS0

oo
[=R§s)

HZE

2

xtotol

ol
&

ol
=

o xpAlel 4

2 SRS LL O] ™o M2 = A etol

L=}

oy

0

ol
=
=
K
o

[e]
=t

«2F(FE)2|

A 201 =
s

A
=l

2{A[Of
8

1.

=
[

407t M 3 A0l ZR0| 12/ E= nAHO| 3

NO. 693 «2|=

EE

=
e

2018 4 6 & 16 Y 2{A|OF AHE

2.

HMSsioF E 277t

=
=

ohEe

Al 3 % =2 xHoj| cf

A=

UL,

OECD 34 AO|E

3.

(https://www.oecd.org/tax/automatic-exchange/common-

reporting-standard/);

@o=cr FCERSS

I
o

2{ Aot
(https://340fzreport.nalog.ru/)

4.

Msi7] 13t M7} opd et

MnA EE D20| Elot X8

2{Alof A HE 7 0fl 2| A 5}o]

=
=

ol 24

MOl M CHRX| Q& LT

o
e

olsiet CHE 782 0

I

st

2 A|OF o Ty


https://www.oecd.org/tax/automatic-exchange/common-reporting-standard/
https://www.oecd.org/tax/automatic-exchange/common-reporting-standard/

